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MASTER OF ARTS (ECONOMICS) 
Term-End Examination 

CO 	 December, 2018 
CD 

MEC-101 : MICROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from each section as per instructions 
given. 

SECTION - A 

Attempt any two questions from this section. 
2x20=40 

1. 	Consider a consumer's preferences over goods x 
and y given by the utility function : 

U(x, y) = 

Let the budget constraint be Px x +1:10=M 
where px  is the price of good x, pi/  is the price of 
good y and let consumer's income'be given by M. 
(a) Derive the consumer's Walrasian demand 

function for good x and good y. 
(b) Compute the own price elasticity and cross 

price elasticity of demand for good x. 

2. (a) What do you understand by the term 
'efficiency' ? State the three properties of 
efficiency to be satisfied for the price setting 
under general equilibrium. 
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(b) Draw an Edgewerth box and show what 
conditions should be satisfied for a 
consumption bundle to be optimal. 

(c) How is the production possibilities frontier 
related to the production contract curve ? 

	

3. 	(a) Given the utility function of an individual, 

U (W) —
2 
	 where W stands for wealth, 

,FIA7 
comment upon the Risk aversion of such an 
individual with the help of a diagram. 
If the initial wealth of the individual 
mentioned above is 400, and if he runs a 
factory, the chances of which catching fire 

1 
is —

5 , 
and the damages that will be caused 

by such fire is estimated to be 300, 
(i) What is the expected loss due to the 

fire? 
(ii) What is the expected utility of the 

individual ? 
(iii) If the insurance company asks for a 

premium of 77, would he pay for 
it ? 

	

4. 	(a) Calculate the minimum cost of producing 
20 units of the output (q) by the firm 
given 	its 	production 	function 

1/2 1/2 
f(K, L)=K L and unit factor prices 

as r=1, w=4. 
(i) 	Derive elasticity of substitution for a 

CES 	production 	function 

q= A[K' + ] , a > 0 
When can the CES production 
function be approximated as 
Cobb-Douglas production function ? 

(b) 

(b) 

MEC-101 	 2 



SECTION - B 

Attempt any five questions from this section. 
5x12=60 

5. With the help of a diagram, describe the 
"Max-Min Decision Rule" as proposed under the 
Rawlisian theory of justice to maximise social 
welfare. 

6. (a) Derive the consumer equilibrium under the 
Expenditure Minimization Problem (EMP). 

(b) State the properties of Expenditure function. 
What is meant by Hicksian demand 
function ? 

7. (a) Explain the concept of Reaction Functions 
in relation to the cournot solution for the 
oligopoly market structure. 

(b) Based on your explanation of (a) above, 
determine the reaction functions of two 
firms 1 and 2 facing the industry demand 
given by p = 100 — q. Assume that each faces 
a variable cost of 25 per unit with no fixed 
costs. Also solve for the Cournot 
equilibrium in such a market situation. 

8. "Moral Hazard is also known as the case of 
Hidden action" - comment. Explain the 
framework of the first best solution to the problem 
of Moral Hazard. 

9. Explain the Kaldor-Hicks compensation criterion 
of economic reorganisation for increasing social 
welfare. 
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Player 2 A 
20, — 30 10, 20 

10, 10 40, —10 B 

10. Consider a Prisoner's Dilemma game as follows : 

Accused - 2 

Confess Non Confess 

Accused -1 	Confess 

Non Confess 

-6, —6 0, —9 

—9, 0 —1, —1 

Derive the sub game perfect Nash Equilibrium 
under the infinitely repeated Prisoner's dilemma 
game. [The figurer in the payoff matrix are the 
year of imprisonment for various combination 
strategies] 

11. Consider the following game : 

Player 1 

Find the mixed strategy of Nash equilibrium for 
this game. What will be the mixed strategy Nash 
equilibrium payoffs of each player in the above 
game. 

12. Write short note on any three of the following : 
(a) Marshallian Demand function 
(b) Homogenious production function 
(c) Natural monopoly 
(d) Third degree price discrimination 
(e) Merit good 
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2x20=40 

	

1. 	 x 3 y TR -qt-zr-d-r 	T{:r 
34461c11 	 gRf TqINT TP4T t: 

U(x, y) = y — —
1 
x 

c1' 1d 1a4 Px x + Py y — M t Aer p x 	Py  

0.01R1 : x atiT ycI .ffzumzEriNm 	Ttrkw 
37-4t I 
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2. 	(a) 'WM' 14 311W Tf TN  -4 t? 04114ch 
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